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Table 1. Summary of results®.

Material U. Solubility  neg ®) Nefr (Hall)((l>
(eV)(b> 1/x )

Metals

Be 180440 0.08 0.240.1  (0.21+0.04)
Mg 440+40 0.11 3.0+0.5 1.8+0.4
Al 520+50 0.26 3.0+0.6 3.1+0.6
\Y 480460 0.04 2.1+0.5 (1.1+0.2)
Cr 320+70 0.15 0.8+£0.4  (0.20+0.04)
Mn 390+50 0.12 1.2+0.3 (0.8£0.2)
Fe 460+60 0.06 1.7£0.4 (3.0£0.6)
Co 640470 0.14 3.14+0.7 (1.740.3)
Ni 380+40 0.13 1.1£0.2 1.1+0.2
Cu 470+50 0.09 1.8+£0.4 1.5+0.3
7n 480+50 0.13 2.44+0.5 (1.5+0.3)
Sr 210430 0.27 1.7£0.5
Nb 470460 0.13 2.74+0.7 (

Mo 420+50 0.12 1.9£0.5 (

Ru 215+30 0.18 0.440.1 (0.440.1
Rh 230+40 0.09 0.54+0.2 (

Pd 800+90 0.03 6.3+1.3 1.14+0.2
Ag 330+40 0.14 1.3+0.3 1.2+0.3
Cd 360+40 0.18 1.9+04 (2.5+0.5)

In 520+£50 0.02 4.8+0.9

Sn 130£20 0.08 0.3£0.1

Sb 720£70 0.13 1142

Ba 490£70 0.21 9.9£2.9

Ta 270£30 0.13 0.9+£0.2 (1.1+0.2)
W 250£30 0.29 0.7£0.2 (0.840.2)
Re 230£30 0.14 0.5+0.1 (0.3+0.1)
Ir 200+£40 0.23 0.4+0.2 (2.2£0.5)

Pt 670£50 0.06 4.6+0.7 3.9+0.8
Au 280+£50 0.18 0.9£0.3 1.54+0.3
Tl 55090 0.01 5.8+1.2 (7.4+1.5)
Pb 480+50 0.04 4.3£0.9

Bi 540+60 0.12 6.9+1.5
Semiconductors
C < 60 0.35
Si < 60 0.23
Ge < 80 0.56
Insulators
BeO < 30 0.25
B < 30 0.38
Al2O3 < 30 0.27
CaOq < 50 0.60
Groups 3 and 4
Sc < 30 1.4
Ti < 30 1.3
Y <70 1.8
Zr <40 1.1
Lu <40 1.5
Hf < 30 1.8
Lanthanides
La < 60 0.6
Ce < 30 1.3
Pr <70 0.9
Nd < 30 0.7
Sm < 30 1.3

022 Rolf0O00ODOOO0OD0OODOOODOODOOOOOOODOOOODOIDOODOODOO
goobodbooobbuoobboobooobbooboooobboobboobbgsbn
gobbooooobobooooooboo
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3.2 S-factor
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0[4)]000000000000000n=400000 fitd a2,a,000000000000
ob0333400000 3300000000000 Db0O0DbDO0OO0DbDUO0ObnE,; = 15keV O

O000000000000E;=50keVO0A=0060=90°0040%000000000
goobooon

00000000000 (E<20kV)00000000000000000000000
W(G)Nl—i-%(?)cosQ@—l) (3.3.3)

goobo
0340000 310000000000 0000DO0O0O0O0OLE,, <600000fitO0D0ODO0O

D(d,p)T  : as ~ 0.043E°5
D(d,n)*He : ay ~ 0.054F%5!
guoooon

Ddn) He

LI R s S M ] T T

£, = 270keV

PARTICLE YIELD {REL UNITS)
T T
.
g
I il
v =
T T T
o
o
g
! 1

E, = 15keV

4
o P S | | S| [y I . N ——_
o End &0° %° 12” 56 180" o 30° 0° 9° o 50 180
S O

0 3.3: Krauss 00000 D(dp)TOOOO000 D(dn)?*He0 0000000000 fit00
0000000000000000 E,0000000000000
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0.8F
0.6F

< 04f

= :

q) L

o 0.2

§ c: .+.|. 1 1 1 1

(&) L

c 0.8

o L

3 0.6 .

5 I

E 0.4_— +

s [

S 0.2f

2 i )

< G'...|....|....|....|....|....

0 10 20 30 40 50 60

Ecm (keV)

0 3.4: Krauss 00000 D(dp)TOO (0)0 D(dn)*He0 DO (0)0 ;0000000000
00000<E,,<600000 0000000

TasLE 1
Angular distribution coefficients a, *)

E b D, p)T D(d, n)*He
iab )
{keV)
a 4, a; a4
15 0.05+0.04 =0.03 0.11+£0.03 =0.04
20 0.14+0.01 0.04 £0.03 0.19+0.04 —0.04+0.05
30 0.21+0.01 0.04x0.03 0.35x0.04 0.02£0,05
40 0.23+0.01 0.01+0.03 0.35+0.03 0.00+0.05
50 0.23+0.01 0.03£0.03 0.39+0.03 0.02+:0.05
60 0.29+0.01 0.04+0.03 0.42+0.03 0.02+0.02
70 0.31+0.02 0.04+0.03 0.48+=0.03 0.03+0.03
80 0.33+0.02 0.06+0.03 0.53+£0.02 0.03+0.03
20 0.33+0.02 0.04+0.03 0.55+0.02 0.041+0.02
100 0.36x0.02 0.03+0.02 0.60+0.02 0.01+0.02
110 0.39+0.02 0.06+0.03 0.58+0.02 0.05+0.05
130 0.44+0.03 0.04£0.03 0.63+0.03 0.06 +£0.05
150 0.45+0.02 0.08+0.03 0.66x0.03 0.07x0.05
170 0.49+0.02 0.08 £0.03 0.67+0.03 0.08 +0.05
190 0.55+0.02 0.08£0.02 0.73+0.03 0.11£0.05
210 0.540.02 0.08 +0.02 0.74+0.03 0.10+0.05
230 0.57 +0.02 0.11+£0.02 0.75+0.03 0.13£0.06
250 0.60+0.02 0.12+0.04 0.78 £0.03 0.11+0.06
270 0.60+0.02 0.13x£0.02 0.76x0.03 0.13+0.06
290 0.62£0.02 0.11x£0,03 0.78 +0.03 0.03+0.06
310 0.58+0.02 0.17+0.03 0.69+0.03 0.10£0.07
330 0.67+£0.01 0.13+0.02 0.82=0.03 -0.12+0.08

2} One standard deviation error. Runs carried out at the same energy have been
averaged.
®) Incident energy.

0 3.1: Krauss 00000 D(dp)TOOO D(dn)*HeO 00 a0, 000000000000
Ub0 Es00000000D0000O0
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34 D(d,p)TODOOO0OO

00000000000000000000000000000000000000000
0000000000000 0000000000000000000d(dp)t000000
000000000000 0000000000000000000

00000000000 A(B,C)DOOOODODNA,B,CDOOOONDNOOO m(i =A,B,C,D)0
00000000 E0000000006,40000 QO (=ma+ms—me—mp)0 QO
O0000AD0ODOOO00,=0,¢,=00000000000COLab0000O00C0O0O
00000000000O000

2
Ec(Ea, Ep,05, 908,00, 9c) = Ecoum {\/ 1 —~2sin® 0’ — v cos 9/} (3.4.1)

. imelAP

= 3.4.2
gt Boon (3.4.2)
Oood
E Eg—2 05/ EL E
Fey = mplia+malp costpymamplialip (3.4.3)
ma + mpg
mp
E = — E 3.4.4
coMm mo+mD(Q+ o) ( )
2maFE 2mpFE 4 EA E 0
‘F|2 _ 2mala+2mpEp + \/mAQmB abpcoslp (3.4.5)
(ma+mp)
o V2mpEpsinfp sin ¢ cos (pc — ¢p) + cos ¢ (\/QmBEB coslp + \/QmAEA)
costf = —
\/QmAEA+2mBEB+4\/mAmBEAEBCOSGB
(3.4.6)
HRERERE

035000000000000 (Eg=0keV)O0O E4=20keV 00 proton 0000000

O0000000000000000000000d(d,p)t000 proton 0000000000
goog

3200~

Proton Energy [keV]
=
[
=
T

2800

ao o b b b b b b b bua s
0 20 40 60 80 100 120 140 160 180
6 [degrees]

0 3.5: B4 =20keVO OO BOOO (Eg=0keV)O Proton 0000000000000
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03.6000000000000 (Ep=0keV)ODO e = 124°(0),142°(0 ) 0 O O O proton
0000000000 b0ob0obOobU0obobOobDgDg: =124,142°000000000
0000000000000 0000000000000 d(d,p)t000 proton000000
gboboboogn

0,=142"
0,=124°

3200

3000

Proton Energy [keV]

2800

PEFEPES EFSEEr EPAErErl EPATETArS EYSVErErE SrArErArSl APAAArel SrATArArel AT ST
0 10 20 30 40 50 60 70 80 90 100
Incident Energy [keV]

0 36: 00BO0O0O (Ep=0keV)O Proton0 0 0000000000000 0OOOOOOO
O 0c=142°0000 6 =124°0000

037000000 Ep=20keVO0O0000OOOE, =20keV 000 0 =142° 00 =0°0
gobodproton000O0O0OO0OO0O0OOOOOOOOODOOOOO ¢p=0°00 ¢p = 180°
OU0b00¢p00000OO0OCMOO LabOOODOOOOOODOOOOODOOODOODOO
Ubob¢epdonoooboonbg

¢B:00
3200~ q)B: 180°

3000

Proton Energy [keV]

2800

PEFEETE R R R PR " P
0 20 40 060 80 100 120 140 160 180
6g [degrees]

O 3.7 Eq = 20keV, Eg = 20keV, 00 = 142°, ¢ = 0°000 Proton 00000000 OOO
OO000D00000000 ¢p=00000 ¢p=180°0000
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3.5 U4t

ooooooboboboooooboobooboboobooboooooocMObogoooDO
gbobboobobboobooboboobooboboobooboboobobobooobg
gbobodbgooboboobuoboobooboboobooboboobobboonog
OO000D0Es=000000000000000000000000000O0O00D0O0OO

goboboobboooooobobbobobodab21000bob330uguoooobooon
Oob0ob0ob0ob0oooboob0obobbobbodLabOODOO0ODOOOOOODOODODLOOO

goooooo
Q
do _ (4o ddcn (3.5.1)
dQ) Lo Q) ¢y dSra

dQen/dQL, 0000000000 Komege 10000

(14 2ycosOop +72)>/?

Ko = 3.5.2

“ |1+ ycosOeon| ( )

cosboyr = —ysin?Orq + cos GLab\/l — 2sin? O (3.5.3)
myms(ms + my) Eem,

= 3.5.4

K \/m2m4(m1 + ma)(Eem + Q) ( )

my oy
E = — 3.5.5
oM my + mao ( )

obobo00Om,me,mg,m, 000000000000 O0O00O0O0O0O0OOOOEERODDODODOOO
OO0EOOD0OD0ODO00O0QO Q-ValueOODOO

1.1

E CM=20keV
1.05

0.95

e by by by by by by by by
0'90 20 40 60 80 100 120 140 160 180
0 [degree]

038 ddp)t0000000000000000000O Eepn=20keVDO OO proton 0000

ododooooouoouoooon
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40 UOooodod

O000oO0b0ob0oooooobob0oboooon Yieldd O

X

Yield = nd/ Ny(x)o(z)dz
0
Eq

= | Ny(E)o(E) (%>_ldE

OobooboooboooobooogoYiedOoOOoo oo oOnaOOODOODOOXO
O0000000000000N(z)000 20000000000 00O0O0O0O0O0O0OOO
O0000000000dE/dx0000000000000000ODOO000O0O0O0O0O0O0O0OO
goo

4.1 0OO0OO0O0OOOO0O

gogbooboboboboboobobobobobobobooboboboooooo
gbobooboooobooboboobobboboobooboboboobobobooonog
0000 (stopping power) D00 0OdE/dx000000000O0O0O0OO0OOOOOOOOOOO
gpoooboon

gboboobgooboboobobboobobboboobobbobooboboon
gbobodoboobobooboboobobboboobooboboboobobboonog
goobobooooobobobo20000b0bobobobobobobobooogan
gboboboobooobooboboobooboboboobbooboobuobobobobooonog
gbobodboobobboboobooboboobooboobobboboooobg
gobogoboboboobooboobuoobooboobooboo
gbobodobgoboboobobooboboboboobobobobooboboboobg
(000 eV)DDODODODUOOOOOODOOOOODODOOOOOOODOOODOOODOOODOOOO
gbooboobobobooboobuooboobo

4.1.1 0OUOQ0UOO0OOOLOOOOOO
000000000 0dO0BohrO0oOoOOooO0ooOooOUOU0UoO0UOObOO0UoOOo-
00000 0Bethe-Bloch O O O

dE
dx

B= [m (2m6027;ﬁ QTm‘”) —2p? ] (4.1.2)

= 2rNrimec’p="-B (4.1.1)

goobooon
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000000000 (412)0000000000000000000000000000 [16]0
D000NAO000000070000000 r=:207,,0000000000000

gbobobooooboob ooboooobooboboboboooboobobboono
gbobbooogbbbuoooobbboo

I ~162°° (4.1.3)

00000000000 (4.1.)00000o0o0oooooo0o0oO0OoUooooooood

—%gm% (4.1.4)
000000000000000000000

0000000000000000000000000000000000000000000
Bethe-Bloch O O 0 proton 0 « 0 0000000000000 8~0.100000000000
00000000000000000000Bohr0000 Bethe-BlochOOOOOOOOOO
000000000000000000000000000000000000000000

gbooboobo

4.1.2 O0O0O0OOOOO0OOO

O000000000000000Fermi-Teller 000000000 [17]0Fermi0O0000
gbobbogobbboooobbooobbbooobobobooobobuooobbooobn
obovoOoooooobovVvehbooobooboooboobbooboovoooobo
O000000000VeO FermiDOOOOODOO (FermiOO)O0O00O0O
O0bobo0oooooobooooooboobo0o0DD FermiDOODOOOODOOO Paulid
gooobooboboobobobooodbdrermi00 000000 DO0ObDODOPauli
gbbbdogoobbooobbbuooobbbooobbooobobobuooobbooobn
gobooboogd

1
Ezﬁﬂw+mf—ﬁ}~wm (4.1.5)
Oooooo0oboOoboooobbooboOooooo
dE 2 miety hv
—— = ——1 > 4.1.
de 3w h? n<e2> (4.1.6)

Ob0o0ooboo Fermid 000000000 DOODOOODODOODOODODOODODDOODO

goboooboooogn

dE
—-— xVE 4.1.7
T X (4.1.7)

goboobobobooogbbobuoooobboood

4.1.3 O00U0OOO0oOoobood

oot oLDL O
ooo0obOobobobooooboobOobooo fitboboboobooooboobobooboo
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Ziegler OO OOOOOOOOOOOOOOODOOOOOOOOO0O0O0O0O0O0OOOOOOOO
O0000000000000000000000S1600 Suig, 00000000 Varelas 0 O
02000000
SLowSHih
S = 4.1.8
SLow+SHigh ( )

gbobboooobbbuoooobbbuoooobbbuooobo

Stow = a1 E"% (4.1.9)
a a
Suign = Hn (1 + 5+ a4E) (4.1.10)

O000000000000000000000000O00O0DO0DO0DO00O0000 (4.1.7),(4.1.4)
0000000 (:=104)0000000000000000CO00O0O0OOOOOOOO
000 [18, 19]0

gbooobodb mnbOogodg

Stow = T.024E%% (4.1.11)
1.101 x 10~* 370.9
Stigh = Txln (1+T+0.00454E) (4.1.12)

ooboobooooobbbobooboooobooobooooobooOooDD 410 IndiumbO OO
goboboooobbbuoooboooboboboooobbbooooboobbooboboooobo
000000000 100keV/AMUDOOOOOOODOOODOO

150

100

Stopping Power [keV/um]

50

0- E— Y R
1 10 10 10
Hydrogen Energy [keV/AMU]

041 000000000 mduvmO 0000000000000 O0ODODODOODODOO
gobobobooooobbooooooboo
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st Uouooudbod

5.1 0O OO

gboboobgooboboobooboboobooboboobooboobobooobon
O005200000000000000001keV~100keVOOODOOODODOOODO 1mAODO
gbobodbgooboboobooboboobobboobooboboobobobooobo
gbobodboboobooboboobuooboboobooboboobobbooono
OO000b0o0ooobobboooobobooog 2~28keVOODOOOOOOODOODOO
gbobooboboobooboboobuooboboobooboboobobbooonog
000000000000000000000000000000 DY, Dy,Dy 000000
gboboobobooobooboboobooboobobooboobobobobobooboog
ooboboogobobooobooogobobobooooobooooboooyYyoooboo
gbobooobobooboobobooboobobooboobooboobobobooonog
gbobobooboboobobbobooboboboboobobbobooboboobg
O000000000.01%0000008kVvO0D0D0D0O0OO0OOODOOODOOOOOOOOO
oobooboobdobooooboooboobobobobooooob oMo Obobobooo
gbooboobooobooboooboboobuoobbooboobbooobo £100v0000O
00000000000000000 Df00000000D0O0O0O0D0OO0DOOODOOOO
UbobobOobobDoon L33eVO0oobooobobooboboboboobobonoog
gbobolboboobooboobol1obobobobboobobiomme DOOODOO
gboboboooboobobooboooboboobob 2b0ob0b0obOo0obOobboonog
gobobobdgeoubobobbOo0booobobobooooobobobobobog
gobobobbbodemme UOUOOO0OO0ODOOOODDOOOOOO0OOODODOOOOOODOO
gogd

Usl:ddbbgdgbbodbbuoguoboboonoboooboobboobbbboonon
gbobobobobobooboobooboob
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5.2 UUOOOOOOOONO

0000000000000000000000000000 107°~10%Pc000000
Ooo0obooboboboobobdboemme JOODOODOOOO6ODODOODODOOOOODOO
gobobodgs3boon
goobooobboooboooooboooooobD divmubODOO0O00OO0OO0OO0O0OOOOODODO
gbobboodbbbuooouoobbbooobboooobboooobboooobo
ooboboobobooooobooboboboobooboboobob mobOobOoboooboo
O0000000000000000 d(d,p)t000000 protonO 0O tritond SSDO OO OO
O0boo000ndiumOO00000000O0O0O0OCO0OOO0OO0ODOOODOOODOOODOOO
00000 2um)0000000Wdium0000000CO0O0O0ODOOOOOODOOODOO
oo0ooo0o0 mdumOOO0O0oOOooOobOO0o0obOOoOoObOOO0ObO0ODbO0ObDbOOoODO
gobbbooogboobobbboooobobbbuooobbn

Faraday cup

Rot. & Lin. Drive
d beam SSD

Cooling

holder sysiem

Heater

Us3: duobogoboboboobboobbuoonoboooobooobbonobuoonon
gbobobbobooodgbbbooobbbuooobbbuooobboooobboooobn
goboboooobbobouooooobod
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0000000000 0natural Indium 0000000 99.99% 000000000000
15640000000000000000000000000 (SUS316)0000 3.1mm¢0 00
00000000 (00 HLJ1051)000000000000000000000000000
00000000000 C¢MO000)00000000000 ndinm00000000000
00 (Impac IP1400)0 0000

5.3 UUOOOOOO

000000000Si0000000000000000 450mm?000000000 100um
000000000 d(d,p)t00000 protonO triton0 00000000000 COOO0O
goboboooobbboooobbbooobsbboooobboooobbboooobo
O00D0OD00000D000000000 Geometryd 123000 LabODODOOOOOO
O0Ooo0obOgno 5455560000

gboboboobgoobobbobooboobobobobobooboobobbobooon
00000 Thermometer 00000000 Thermometer 000000 OO OO Geometry3
gbooboboboobooboooboobooboobooboobon
Geometryl 200 000000000000 ODOODOODOOODOODOOS"O0D00O0ODOOO
OOooooobbUoboOoboooobooboooobooboonoee=124c000000000000
00000 00ODOODOODODODOOODOODODOD
Geometry3 O Geometry2 [ ¢ = 0° 0000000000 0O0O0O0O00O0ODOOOOODOOOOO
gbobobobooobooboobobobobooobooboooshmmboboboobooon
Oobdbobooboobooboobooooboooobobooooobboobouoge =14200
oboooog
Geometry2 30 000000000000 r40 Geometryl OO OODDO0OOOOOODOOO
gbobooobooboboobobbooboobobooobobobobDoobobobonog
gboooboobon

Thermometer
Thermometer

Si detector

Si detector (450mm°®)
Beam

Al foil (2um)

44m

50°

O 54 GeometrylUOLabO O ODOOOOOOOODOOOOODOOODOOODOOOOOOOO
goboboooobbbuoooboobod
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Thermometer
Si detector (450mm?)
Beam Al foil (2um)
\ 13mm
53mm
50°

Thermometer

Si detector

Al foil (2um)
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O 5.5: Geometry2UO O LabO OO ODO0O0OO0OOODOOODOODOOODOOODOOODOOOOO

goboboooobbbuooooobod

Thermometer
Beam

Si detector (450mm?)

s

A
13mm

Y
————

Al foil (2um)

53mm

Thermometer

Beam Si detector 5mm

A b

13mm
y
—_—T

Al foil (2um)

53mm

60°

O 5.6: Geometry3UOLabO OO ODOOOOOOODOOOOODOOODOOODOOODOOOOO

gbobboooobbboodobbobod
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gboboboogobbboooobobbuooan

e Geometryl 0 =124°, rq =44mm, ra = 4mm
e Geometry?2 0 =124°, rqg =53mm, 1 = 13mm
e Geometry3 0 = 142°, rq =53mm, 1 = 13mm

ooooe0OODOODODODOODOOOUODOUOO,ODODODODODODOOOOOO
gggobbbbbbrgu0bbboObObObbbbObo0udoooooooooobbbobobn
gooo
oobooobooooobooobooboooboobooooobooobooooboOoOoD do
gobobooogbbbdaabbuogoobobogd

QO =2r (1 - \/%) (5.3.1)

gobbbooogoboboooobobod

e Geometryl Q= 1.7%
e Geometry?2 Q=1.23%
e Geometry3 0 =1.22%

O0D00000 Geometry3OOOODOODOODODOOODOODOOODOOODOODDOODOOO
godgdgggggdgbobobbbbbbbbbbbbbbobbbbbbbbbbbbobo
O00000D0Geometry30 0000000 0ODOODOOOO
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gbobbuoogbbobooobboooobbooobbbooobbuooobboboon
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gbobobooooboboBLrooboooooooboboboboboboobobobg
gboboboboooobobobuobooobooboBLTO D ODOODOObOODODbDODO
gbbbooobooobobbuoodobbooobbbooobboooobboooobon
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5.4.2 00U

O000000000000000O0on/off 0000000000000 OOOOOOOOO
goobobobbobboboboboobobboboobuoobobboboobogon
goboboobobobobooboboobobobboobobooboboonD 176 ~ 10pum
gboboobobbooogbbbuoooobbooog 20pembbooogd

5.5 OO OO

5.5.1 UOUOOOOO
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goboboooobbobuoooobbboooon
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5.5.2 UUOOOOOO
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0 Gate 00000000 OOOScaler0(LeCroy OO 2551) 00 veto O OO OODOODOOO
gobobbooogbbbuooooboboosobbbooobbboon

5.5.3 UJUO0ObobOooooboobboood
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0010°7C 000 +5V,500nsec 0 0000000000000 Inverter O Attenuetor 0 0O O
00O Scaler0 OO Scalerl(C-TS203)0 0 0000000000000 0O0OOOOOOOClock
Generator(Technoland OO0 N-TM203) D00 IMHzOOOOOO Scalerl 00 O0OO0OOOO
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O00D00OOScaler0 00000000 DOODOODOODOOODODOODODODOODOODOODOO
0000000000000 DO000D0000DO0ODO0OD0O0OScalerl00OO0DOOOOODO
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oV Ec _ oV Ec dcost
0pc 0 cost’ 0pc
NEc\ % cos &
0(:080’) B Feewr {—7-1— V1 —72sin? ¢
(6cos€’> . \/QmBEB SiIl@B sin@c sin ((z)c —gbB)
doc \/QmAEA+2mBEB —4v/mampE s Ep cosfOp
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HNERERE
d(COS QCCM’) _ 1 8PCzCM’ (9 9 14)
d(cosO¢) V2meEccyy \O(cosbe) o
oo0on
OPc.om\ o o OV Ec
(6’(608 90)) N 2mo o + v2me cosbe ((9(:08 Oc

(i) = (o) (523

0 cosfc Jcost’ 0 cosfc

<(’3cos o' ) vmpFEpgsin0p cosOc cos (pc — ¢p) — sin ¢ (\/mBEB cosfp + \/mAEA)
0 cos ¢ sin@C\/mAEA+mBEB —2vVmampE Eg cosOp

gbhobbdbU0OLabODoobooboboboobooon
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gboooobogboooboobobooboobobuoobbobbuoob gyOooobo
00000 &xOoOO0OO0O0OO0OO00O0bOO000O000000b00bO0b00O0

AM@<@%%ﬁ»Mb (9.3.1)

00000000 N,0000000000000000(de/d).,00000000000
D0000000000000 E,00000000000000000000000000
000000 Yieldge(Eq) O O

X
Yieldthick = / / Nd(l’) <w> dQLabdZC (932)
Qray 70
Eq

_ LMO Mm»@ﬁ%ﬁg<%§AammE (9.3.3)

0000000000XO0O0OO0O000 Ranged00Q,,00000000000000x—E
00000000000000000000000000000000

0?2?20 00000000000000000000000000000000000000
000000000000000

0000000000000000000000000 E,, = E,/20000E,; = 20keV
00006 =124,142200000000 W(124) ~ 1.000 W(142) ~ 1.060 0000000
p=124°00000000000000060=14220000000000000000000
000000000000 Yieldyo, 00000000000000000000000000
Yieldy 00000000

00000000000000000000000

do do
— Qem = | == Q 3.4
/chn <dQ > cm d o (dQ) cm o (9 3 )

0ooo
UQD==L;(d2g”> :4W<dzgﬂ) (9.3.5)
(diéf)> ::Uif) (9.3.6)

0ooooD B 1
\Hddmmed):S}??AEdeﬁnégt:a(E)(%g>_ dE (9.3.7)

0000000000000 000000000 e(P)ODODOOODOOOODODODODOOOOOO
gobobooogboo
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gbbbuoggbbbooobboooobbuooobobobooobboooboboboog
gog

e 0ODODO : const.(~1)
e S-factor : const.

e dE/dx: cVE

° Ny : const.
ooooo
Eq —44.39/VE) 1
Yield,  (Eq) ~ C / exp( - /VE) —dE (9.3.8)
0
= Cexp(—44.39/\/ E,) (9.3.9)

0000000 (933)00 (939000000 VYiedODODODODOOOOOOOOO

14

1.2 |

Yield Ratio
[S=Y
.

0.8

06 PRI T T KNS T T S NN T T ST [N SR T T NN ST SR N S S T S
-0 5 10 15 20 25 30

Incident Energy [keV]
092 =124°(0)0000=142°0(0)000000 (9.33) 00000000000 (9.3.9)
000000 YielddOOOYieldd 20keV O Normalize 0000000000 2.5%,5.3%0 0

goobooon
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9.5 UOOO0OOO

OobobO0 mbobOooboboooogoagnN, 0000000000000 0oo0oooan
gboobobbooboobooboobo

1 O
E [keV] ‘ Beam ‘ Geometry ‘ N, [mC] ‘ N, NBack Y,

75 D5 1 16.76 172 + 14 25 + 4 10.24 + 0.81
60 Ds 1 98.02 862 4+ 40 | 122 + 27 8.79 £ 0.41
55 D5 1 67.20 481 £ 29 | 111 £ 19 7.16 £+ 0.44
50 D5 1 84.28 557 + 38 | 156 £+ 29 6.61 + 0.45
45 D3 1 330.06 | 2105 £+ 59 | 240 + 38 6.38 &+ 0.18
40 Ds 1 101.45 486 + 33 | 103 £+ 25 4.79 + 0.33
35 D5 1 144.49 535 £ 32 | 78 &+ 22 3.70 £ 0.22
30 D3 1 348.15 | 1029 =34 | 19 £ 10 2.954 £+ 0.097
25 D3 1 228.66 423 + 26 | 44 + 16 1.85 4+ 0.11
20 D3 1 339.83 364 £+ 20 947 1.070 £ 0.060
15 Ds 1 393.58 164 + 13 0+0 0.416 £ 0.033
60 D5 2 849.47 | 6364 £+ 98 | 670 £ 57 7.49 £ 0.12
50 D5 2 350.26 | 1960 £ 47 | 56 + 15 5.59 £+ 0.13
45 D5 2 193.79 894 £ 30 242 4.61 £ 0.15
30 Ds 2 656.16 | 1392 + 37 0£0 2.121 £+ 0.057
60 D5 3 688.48 | 4885 + 72 | 644 + 18 7.09 4+ 0.10
55 D3 3 112.00 | 1046 £ 42 | 425 £ 27 9.34 + 0.37
50 Ds 3 304.28 | 1437+ 38| 32+ 3 4.72 + 0.13
45 D5 3 389.45 | 1554 40| 20+ 3 3.99 £+ 0.10
40 Dy 3 136.94 710 +£ 28 | 65 £ 10 5.19 £ 0.21
35 D3 3 110.84 467 £+ 22 17+ 4 4.22 + 0.20
30 Ds 3 1346.33 | 2637 + 51 441 1.959 4 0.038
25 Ds 3 367.27 471 £+ 22 0+0 1.282 4+ 0.059
20 Ds 3 263.30 160 &+ 13 0x0 0.608 £ 0.048
15 D3 3 524.92 131 £ 11 0+0 0.250 £ 0.022
10 D5 3 761.63 36 £ 6 0x+0 0.0473 £ 0.0079
40 Dy 3 604.97 | 1699 £+ 43 | 506 = 13 | 2.808 £ 0.071
20 D; 3 363.03 12+ 4 7T+1 0.0337 4+ 0.0061

001:0000000000D000000DO00D0GeometryDDO0OO0ODOOOODOODOO

gboboboooobbbuoobobod
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0000
E [keV] ‘ Beam ‘ Geometry ‘ N, [mC] ‘ N, NBack Y,
75 Ds 1 16.76 169 + 14 73+ 5 | 10.083 + 0.81
60 D5 1 98.02 753 &£ 38 | 158 &£ 27 | 7.685 &+ 0.39
55 Ds 1 67.20 446 + 31 | 144 + 23 | 6.63 £ 0.46
50 D3 1 84.28 552 +£ 39 | 166 = 31 | 6.55 £+ 0.46
45 Ds 1 330.06 | 1981 £+ 58 | 2561 = 37 | 6.00 & 0.18
40 D5 1 101.45 448 +£ 33 | 105 £ 25 | 4.42 £+ 0.32
35 Ds 1 144.49 511 £33 | 90 £ 25 3.54 4+ 0.23
30 Ds 1 348.15 997 +£ 33 | 57 £ 11 | 2.863 £ 0.096
25 Ds 1 228.66 378 £ 26 | 63 £ 17 1.65 4+ 0.11
20 D3 1 339.83 358 £ 20 27 £ 8 | 1.055 £ 0.060
15 Ds 1 393.58 176 £+ 13 18 £ 1 | 0.446 £+ 0.034
60 Ds 2 849.47 | 5920 &85 | 596 £ 36 | 6.97 &= 0.10
50 D3 2 350.26 | 1925 45| 59 £ 11 5.50 + 0.13
45 Ds 2 193.79 875 £+ 30 5+ 2 451 £ 0.15
30 Ds 2 656.16 | 1349 £ 37| 46 £3 | 2.056 £ 0.056
60 D5 3 688.48 | 4753 &+ 70 | 521 £ 11 | 6.90 £ 0.10
55 D3 3 112.00 | 1023 £ 35| 238 £ 13| 9.13 £0.31
50 D5 3 304.28 | 1459 £ 38| 39+ 3 4.80 £+ 0.13
45 D3 3 389.45 | 1476 £ 38| 36 £3 | 3.791 £ 0.099
40 Ds 3 136.94 714 £ 27 25 + 2 5.21 £ 0.20
35 Ds 3 110.84 423 + 21 19 £ 3 3.82 £ 0.19
30 Ds 3 1346.33 | 2489 £ 50 | 111 £ 3 | 1.849 + 0.037
25 D3 3 367.27 456 + 21 51 + 2 1.243 4+ 0.058
20 D3 3 263.30 176 £+ 13 32+1 | 0.669 £+ 0.050
15 Ds 3 524.92 169 £+ 13 49 +1 | 0.322 £+ 0.025
10 D3 3 761.63 167 + 13 80+1 |0.219 £ 0.017
40 D, 3 604.97 | 1944 4+ 48 | 904 + 20 | 3.214 £ 0.080
20 Dy 3 363.03 3246 57 £ 3 | 0.087 £ 0.014
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